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The minimum tension reinforcement in beam should not be less
than ___________.

(a) 𝑨𝒔𝒕
𝒃𝒅

= 𝟎.𝟖𝟓
𝒇𝒚

(b) 𝟎.𝟒𝟕
𝑨𝒔𝒕

= 𝒇𝒚
𝟑 𝒇𝒄𝒌

(c) 𝟎.𝟖𝟓
𝑨𝒔𝒕

= 𝒇𝒚
𝟑 𝒇𝒄𝒌

(d) 𝟎.𝟒𝟓
𝑨𝒔𝒕

= 𝒇𝒚
𝟑 𝒇𝒄𝒌
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If the depth of actual neutral axis in a beam is more than the
depth of critical neutral axis, the beam is called:

(a) Balanced beam

(b) Under reinforced beam

(c) Over reinforced beam

(d) None of the above
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The diagonal tension failure in a concrete beam occurs due to

(a) Large shear force and less bending moment

(b) Large bending moment and less shear force

(c) Equal shear force and bending moment

(d) None of these
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With usual notations the depth of the neutral axis of a balanced
section, is given by

(a) mc/t = (d – n)/n

(b) t/mc = n/(d + n)

(c) t/mc = (d + n)/n

(d) mc/t = n/(d – n)
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In a beam, if the more number of thinner bars are increased in
place of less number of thicker bars, keeping area same, the bond
strength will:

(a) Increase

(b) Decrease

(c) Remain same

(d) Increase or decrease depending upon the percentage of steel
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The moment coefficients given in IS 456 for simply supported
torsionally unrestrained slab are based on:

(a) Westergarrd method

(b) Rankine Grashoff theory

(c) Yield line theory

(d) Marcus method
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Bottom bars under the columns are extended into the interior of
the footing slab to a distance greater than

(a) 42 diameters from the center of the column

(b) 42 diameters from the inner edge of the column

(c) 42 diameters from the outer edge of the column

(d) 24 diameters from the center of the column
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Anchorage value of 135° bend is ____________ times the diameter of
the bar.

(a) 4

(b) 8

(c) 12

(d) 16
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What is the trapezoidal footing used for?

(a) Carry two columns of unequal loads

(b) Carry equal loads

(c) Carry load

(d) Carry two columns of equal loads
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As per codal provisions of IS 3370, minimum grade of concrete for
the RCC and PCC water tank are respectively

(a) M20, M30

(b) M30, M20

(c) M30, M25

(d) M25, M20
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Percentage of steel for balanced section of a singly reinforced
rectangular section by limit state method does NOT depend on

(a) Characteristic strength of concrete

(b) Yield strength of concrete

(c) Modulus of elasticity of steel

(d) Geometry of the section
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The most economical type of the RCC beam

(a) Singly reinforced rectangular beam

(b) Doubly reinforced T-beam

(c) Doubly reinforced rectangular beam

(d) Singly reinforced T-beam
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The maximum compressive strain in concrete at the limit state of
collapse in compression to be considered for the design of axially
loaded short column is ___________

(a) 0.35

(b) 0.01

(c) 0.035

(d) 0.002
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As per IS 10262: 2009, what is the assumed standard deviation in
MPa of M30 concrete?

(a) 5

(b) 4

(c) 3.5

(d) 6
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In stress block diagram for A rectangular section of singly
reinforced beam IN LIMIT STATE METHOD, the centroid of
compressive force lies at a distance of __________ from the extreme
compression fibre.

(a) 0.5 Xu

(b) 0.42 Xu

(c) 0.36 Xu

(d) 0.45 Xu

USE MAX DISCOUNT CODE Y579 
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In limit state method, spacing of main reinforcement control
primarily

(a) Durability

(b) Deflection

(c) Collapse

(d) Cracking
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When HYSD bars are used in place of mild steel bars in a beam,
the bond strength

(a) Become zero

(b) Decreases

(c) Increases

(d) Does not change
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As per IS 456-2000, When HYSD bars are used, the minimum
reinforcement in either direction of slabs, is

(a) 0.35% of the total cross sectional area

(b) 0.12% of the total cross sectional area

(c) 0.80% of the total cross sectional area

(d) 0.25% of the total cross sectional area
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In case of two way slab the ratio of the long span to the short span
is

(a) More than two

(b) Zero

(c) Five

(d) Less than two
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As per IS 456-2000, what is the maximum free water-to-cement
ratio of an M40 grade of reinforced concrete under extreme
exposure conditions?

(a) 0.40

(b) 0.55

(c) 0.5

(d) 0.60
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Maximum reinforcement provided in a beam section shall not
exceed ________.

(a) 𝟎.𝟖𝟓
𝒇𝒚

(bd)

(b) 𝟎.𝟖𝟕
𝒇𝒚

(bd)

(c) 0.04 (bd)

(d) 0.04 (bD)
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All columns shall be designed for minimum eccentricity I/500 +
d/30 = 20 mm. where,

I = ___________

d = ____________

(a) Effective length of column, Depth of column

(b) Unsupported length of column, Lateral Dimension of column

(c) Effective length of column, Lateral dimension of column

(d) Unspoorted length of column, Depth of column
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As per IS 456-2000, The flexural tensile strength of concrete of
grade M25 according to the ‘limit state method’ is:

(a) 3.0 N/mm²

(b) 3.5 N/mm²

(c) 5.0 N/mm²

(d) 2.5 N/mm²
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Which limit states deals with strength, overturning, sliding,
buckling, fatigue fracture, etc.?

(a) Ultimate limit states

(b) Strain limit state

(c) Stress state

(d) Serviceability limit states
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The ratio of the depth of the parabolic and rectangular portion
block at the limiting state of collapse of a singly reinforced section
is:

(a) 4 : 5

(b) 4 : 3

(c) 3 : 4

(d) 2 : 1
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Diagonal tension in beam ________

(a) Is maximum at neutral axis

(b) Decreases below the neutral axis and increases above the
neutral axis

(c) Increases below the neutral axis and decreases above the
neutral axis

(d) Remains the same in both above and below the neutral axis
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The spacing of stirrups in a beam:

(a) Is the same everywhere

(b) Depends on the size of the beam

(c) Increases near the support

(d) Decreases near the support
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If design bond stress = 1.5 N/mm² is assumed, then the
development length of an Fe 500 HYSD bar of nominal diameter
12 mm – Which is fully stressed in tension – will be:

(a) 544 mm

(b) 246 mm

(c) 634 mm

(d) 798 mm

USE MAX DISCOUNT CODE Y579 



The resistance offered to slipping of steel bars from concrete is
due to:

i. Pure adhesion

ii. Frictional resistance

iii. Mechanical resistance

Which of these is/are correct?

(a) only i

(b) ii and iii

(c) i and iii

(d) i, ii and iii
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The diameter of transverse reinforcement of columns should be
equal to one-fourth of the diameter of the main steel rods but not
less than

(a) 4 mm

(b) 5 mm

(c) 6 mm

(d) 7 mm
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According to I.S. 456-1978, the thickness of reinforced concrete
footing on piles at its edges is kept less than

(a) 5 cm

(b) 10 cm

(c) 15 cm

(d) 20 cm
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The foundation whose length is considerable greater than its
width is:

(a) Footing

(b) Combined footing

(c) Strip foundation

(d) Raft foundation
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Width of RC rectangular beam is 205 mm, spacing of vertical
stirrups provided is 435 mm (𝐟𝐲 = 410 MPa). If shear capacity of a
RC beam is more than shear force at a section; the minimum
quantity of the stirrups to be provided as per codal provision is:

(a) 50 mm²

(b) 75 mm²

(c) 100 mm²

(d) 250 mm²
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The load at which the column just buckles, is known as

(a) Buckling load

(b) Critical load

(c) Crippling load

(d) Any one of these
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As per IS 456-2000, the limiting value of the depth of neutral axis
(𝐗𝐮𝐦𝐚𝐱/𝐝) for fe415 grade steel is:

(a) 0.46

(b) 0.48

(c) 0.53

(d) 0.39
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